Notes 8-8 Obj. 2
Exponential Decay

Ex. 4 Cesiumn-137 has a half-life of 30 years. Suppose a lab stored 30mCi sample in 1973. How much of

the sample will be left in 20037 In 20637 H’?g 2 .
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** you could use an exponential decay equation to help you in Ex. 4. y =30 - (.5)*%

y = how much Cesium-137 you have left after half-lives
X = years
a = how much Cesium-137 you started with

b =:21—0r 5 for half-life

@ exponent is years + half life

y=30 £z 30-@ = 50- 4= [15 Ci]
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Let's try it:




Ex. B: In 1990, the population of Washington, D.C., was about 604, 000 people. Since then the
population has decreased about 1.8% per year. Suppose the trend in population change continued.

What would you predict the population of Washington, D.C. would have been in 20107
y=a a-b* o ¥ fvm 1990 40 2010 = 20years

y = 004,000 (,7%2)*°
oo -1.8%, = 7. 2% = 982
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